Background studies

» Used Jans slicio files for sidloi3
— [ilc/luserl/j/jstrube/GuineaPig/sidloi3/
* Nervertheless also simulating GuineaPig pairs
with SLIC 5.0 for comparison

* Wrote C++ tool for studying hits per calorimeter
cells

* Will add more functionality

 Tool will be usable for all subdetectors



General studies of the slcio files

For 400 bunches (400 slicio files: 1_simulated_pairs.slcio, ..., 400 _simulated_pairs.slcio)
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Particles per event
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Distribution of EcalBarrel hits
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Hits per Layer: EcalBarrel
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Hits per Layer: EcalBarrel
Layer 10

Hits per cells for layer 10
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Hits per Layer: EcalBarrel
Layer 20

Hits per cells for layer 20

Hits_Layer [20]
1 Entries 1
- Mean 1
- RMS 0
08
0.6
04 f—
02
Y I I P N A B A AN BT BT R S
0 5 10 15 20 25 30 35 40 45 50
Hits per cell
HitMap for layer 20
1500 Hits_2D_Layer [20]
[ - - = — Entries 126
— . - - Mean x -58.21
[ _ - T Meany -162.2
1000 — iy RMS x 859.2
[ - RMS y 1037
— - —135
500 f— -
— - —3
N - —25
> —
- _ —2
500 fF— = - =
L - —115
: = =
— - 1
-1000 — = - =
— - - _ =" 05
— - - - - -
) S S S S S S O S S S NS S T S S S S S Y B S S 0
-1500 -1000 -500 0 500 1000 1500



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5

